4002 HHE

AR

N=148

Total

N=170

1.2RE (BE) 1. LTwa 14 (63.6%) 81 (54.7%) 95 (55.9%)
2 LTuhaL 8 (36.4%) 67 (45.3%) 75 (44.1%)
2EHERE 1 LTW3 8 (36.4%) 22 (15.2%) 30 (18.0%)
2 LTuhian 14 (63.6%) 123 (84.8%) 137 (82.0%)
3.7 FHiERE 1 LTW3 17 (77.3%) 101 (68.2%) 118 (69.4%)
2 LTl 5 (22.7%) 47 (31.8%) 52 (30.6%)
A F %0 BEE2 1 LTW3 2(9.1%) 23 (15.9%) 25 (15.0%)
2 LTuhAaL 20 (90.9%) 122 (84.1%) 142 (85.0%)
bAFTERE 1 LTw3 14 (63.6%) 62 (42.5%) 76 (45.2%)
2 LTWLAN 8 (36.4%) 84 (57.5%) 92 (54.8%)
6.2 - BaEFZ 1 LTwnwa 9 (40.9%) 45 (30.6%) 54 (32.0%)
2 LTuhAaL 13 (59.1%) 102 (69.4%) 115 (68.0%)
IR 1 LTw3 12 (54.5%) 32 (21.8%) A4 (26.0%)
2 LTuhin 10 (45.5%) 115 (78.2%) 125 (74.0%)
8IEEEEY 1 LTW3 8 (36.4%) 23 (15.6%) 31 (18.3%)
2 LTuhAaL 14 (63.6%) 124 (84.4%) 138 (81.7%)
IKHERtL Y X —~DHFE 1 LTw3 12 (54.5%) 48 (33.3%) 60 (36.1%)
2 LTuhau 10 (45.5%) 96 (66.7%) 106 (63.9%)
10 EELYEE 1 LTW3 8 (36.4%) 15 (10.3%) 23 (13.8%)
2 LTl 14 (63.6%) 130 (89.7%) 144 (86.2%)
IINEREEES 1 LTwnwa 6 (27.3%) 27 (18.8%) 33 (19.9%)
2 LTuhAaL 16 (72.7%) 117 (81.2%) 133 (80.1%)
12.EBEEREZDER 1 LTw3 21 (100.0%) 97 (65.5%) 118 (69.8%)
2 LTuan 0 (0.0%) 51 (34.5%) 51 (30.2%)
13. LR = D EHE 1. LTuw3 7 (31.8%) 13 (8.8%) 20 (11.8%)
2 LTl 15 (68.2%) 134 (91.2%) 149 (88.2%)
14 BBOREBE 1 LTw3 6 (27.3%) 8 (5.4%) 14 ( 8.3%)
2 LTuhaL 16 (72.7%) 139 (94.6%) 155 (91.7%)

15.&#DFE - BE 1 FF - B&EHY 3 (33.3%) 31 (23.0%) 34 (23.6%)
2 W - LAan 1(11.1%) 24 (17.8%) 25 (17.4%)
3 hhBHAEN 4 (44.4%) 74 (54.8%) 78 (54.2%)
4 Z D 1(11.1%) 6 (4.4%) 7 (4.9%)
16.BABE V2 ERIEAE O F & 1 FEXLL 9 (90.0%) 105 (77.2%) 114 (78.1%)
2 B ¥ E 0(0.0%) 4 (2.9%) 4(2.7%)
4 HH S 1 1 (10.0%) 27 (19.9%) 28 (19.2%)
17 BsE Eih 70 (62-73) 62 (55-68) 62 (55-69)
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